Dictionary order

English version:

We have n characters in alphabetical table and n circle permutations. They (permutation) need to be
ascendingly sorted in dictionary order. If same dictionary orders are found in 2 permutations, higher prioty
belongs to one having lower starting character 's index (in input given).

Input:

+) First line contains n (1<= n <=5 * 10"4).

+) n following lines: ith line is writen a_i (1 <= a_i <= 2"31), ith character 's order in alphabetical table.
QOutput: write n lines with n indexs after sorting, respectively.

Example:

Data:

AN =2 =2DMNDO

Result:

g b =2 0N

Don't forget your program 's size!
S have fun! ;)

Viethamese Version:
Cho n ki tu trong bang ki tu. Xét n hoan vi vong quanh. Sap x€p chung theo thir tu tir dién tang dan.
NEu 2 hoan vi cé cung thr tu ttr dién thi uu tién hoén vi cé chi s6 cla ki tu bat dau nhd hon xép trude.

Input:

+) Dong dau ghis6 n (1<=n<=5*10"4)
+) N dong sau: dong thiri ghi a_i (1 <= a_i <= 2731) la th( tu cUa ki ty thd i trong bang chir cai.
Output: ghi ra n dong la n chi s6 tuang Ung sau khi sap xép.

Vi du

DU liéu:
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